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= AN 2Z0
(ctel: &
B B2l (31) - HRAIY - B S O] &k o8 e =2
(29)8ItN I o4
2,490,000& » 14 2,490
2= WHXZ HE 4,150,000& » 14! 4,150
] PSga 1,000,000& * 14 1,000
N s EE 829 HE
4,150,000& = 14 4,150
gotg, g, HE S
3,320,000& = 14 3,320
&, A S A
2,490,000& * 14l 2,490
oI, ANdzHE S 2te ME
5,810,000 * 14 5,810
M & 7+ 2,863,000& * 14 2,863
D], 29 5 7Y
415,000& * 14 415
ol AxFHl F 8,000,000 * 14 8,000
OtM & S HIZ 2,490,000 » 14 2,490
otd 28 2Y 1,660,000& = 14 1,660
OHNMRA I= FY 76,0003 » 60 4,560
MR P AGHEE LY
4,000,000& » 14l 4,000
2240 BEA=E, 210 7Y
30,000& * 170 5,100
aEA 22T S|
3,452,000& * 14 3,452
HANZSA S8l 19,470,000& * 14 19,470
24N BEAEA =Y
50,000& * 3% * 59« 8,850
ek Xz 4,150,000& = 14! 4,150
& FHl FHl Xz 2,490,000& * 14 2,490
Zel28 & HE Xz
22,000,000& » 14 22,000
& St YX= 5,000,000& » 2= 10,000
=Rl 32,601 35,640 23,039
g 1,264,000& » 14 1,264
== 4,000,000& = 14l 4,000
X == 3,000,000& » 14 3,000
2elzf |2l
5,672,000& = 14! 5,672
MRAE SX2eldl  2,000,000& * 14 2,000
g M s gX22ll
2,990,000& » 14 2,990
QEHI0l FXA&e2ldl 4,820,000& * 14] 4,820
| S S&&H 222
1,385,000& = 14 1,385
2,490,000& » 14 2,490

|
w
|




AT BB2EH=XZ SN 2B
HE: GHYBBIE
Y (el &2
_ _ N e =
PA - M- HAZH) - NEAY - BES Ol &+ 9K Ofl At ot Hws2
S EEEIE LI
1,660,0002! * 14! 1,660
OfsoIgnZEs B0 3,320,002 * 14 3,320
202 01t 3,856 3,856 0
01 =2Uloibl 3,856 3,856 0
O YA +F 3,856,002 * 14! 3,856
307 BI2HOI 130,000 20,000 10,000
05 PI2teIEr2 130,000 120,000 10,000
Ol AR M2 BI29et
130,000,0002 * 141 130,000
401 AlAHIL 20| 160,000 190,000 230,000
01 Al 160,000 190,000 230,000
AT ®IIZA 30,000,0002! * 14! 30,000
OFEHE SAUTA 20,000,0002! * 14! 20,000
OFEMH A4LEBA 30,000,008 * 14 30,000
OBEMH AL &5 2 |
60,000,0008 * 14} 60,000
OBEaHE Y20 M &
20,000,0002 * 14} 20,000
405 THAHE S 10,000 10,000 0
01 RAUSESH S| 10,000 10,000 0
Odfe HAFY 7Y 5,000,000% * 14! 5,000
Odfet LEI| R (AIF) 5,000,008 * 14 5,000
e 2 (R 91,000 96,000 25,000
301 LHBAI 91,000 96,000 25,000
12 JIEtR A S 91,000 96,000 5,000
OCZSZZN S4(JE, S8S)
7,000,000% * 14! 7,000
OHZ2LX SA(ZE, SHE)
10,000,0002 * 14} 10,000
O =AM 4 4,000,000%! * 14! 4,000
O+HIEQE SA(FE)
50,000,0002 * 14} 50,000
O+ MUHRY S4(SHUE)
20,000,002 * 14} 20,000
e =Y (SHs) 487,986 740,313 A252,327
101 2121t 200,250 330,003 A129,753
04 JIAMZ2RNSL4 200,250 330,003 £129,753
O+MQBRZQR Q2|
50,0002 * 7588 * 452 168,750
OHHEN TR0I(0H2HHOIE)
35,0002 * 20% * 452 31,500
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A3 BPRIH=NZ SN B
HH: SUBBIE
Dol 29 (ehel: =3
224 ZH . S(E) - HRAY - BES sl e HlRE2
201 Let2d] 80,736 85,810 A5,074
01 AtS 22l 58,021 58,100 AT9
OES=FI=; 26,311,000& * 14 26,311
og=d 6,723,000& = 14 6,723
O=sHH 6,723,000& = 14! 6,723
OAtEH 7,387,000& = 14l 7,387
o= 7,138,000& * 14 7,138
Oxgs=s 1,000,000 * 14! 1,000
Os&s 1,162,000& * 14 1,162
Od8s 415,000& * 14 415
OFES= 1,162,000& » 14 1,162
02 2323l 22,715 27,710 24,995
OF=2ds 8,918,000& * 14 8,918
og=d 3,000,000& * 14l 3,000
O=sHH 3,000,000& = 14 3,000
OAMEH 2,556,000& » 14 2,556
o= 2,833,000& * 14 2,833
Oxgs=s 639,000& * 14| 639
Os8s 546,000& * 14 546
Od8s 723,000& * 14 723
OFES= 500,000& * 14 500
401 Al&HIZL=ROHYI 200,000 300,000 100,000
01 Al&H| 200,000 300,000 100,000
osHsli+==% Al&HI 200,000
oSHE o =)
200,000,000& * 1A 200,000
405 KHaHFESH| 7,000 24,500 A 17,500
01 T =S HSHI 7,000 24,500 A 17,500
Osgs == JaHS 7,000
o5Hs =2 =574
7,000,000& = 14l 7,000
HE2AHH (22 31,840 32,500 A 660
=&l 31,840 32,500 A 660
JI=&Hl 31,840 32,500 A 660
201 Yer2 Y| 7,400 17,400 0
01 AtS22/Hl 17,400 17,400 0
O=Sgt & a2 HEFASE S
17,400,000& * 14 17,400
202 O4Hl 7,600 7,600 0
01 =LA b 7,600 7,600 0
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A 2AFEI=ERXN= A 2F0=
Mz Rl AEzd 2 4
o AS2HTAL e (29 22)
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
== ° T R B i o ) ° TNs a3 &= 04| AFOH U=sa
230l =t 9,478,035 12,846,938 A 3,368,903
= 1,167,501
| 124,904
= 92,350
& 856,794
Al 7,236,486
2= AT £ =S 5,563,530 6,864,663 A 1,301,133
= 320,000
= 92,350
& 525,000
Al 4,626, 180
LAE2SENL &E 2,065,200 2,047,000 18,200
= 320,000
= 92,350
& 390,000
Al 1,262,850
ZEZSEN LY 2Z &I 5,800 6,000 A 200
202 (44| 4,000 4,000 0
01 =2WdHI 4,000 4,000 0
OYseHIHLLY SFol)
4,000,000 * 14 4,000
203 R F&d| 1,800 2,000 A 200
03 AlIZMF&H S F=EIH| 1,800 2,000 A 200
O2sol=AMME=R 1,800,000& * 14 1,800
2ol s 2= 10,800 15,800 25,000
201 2EtE3| 800 800 0
01 AtR2t2ldl 800 800 0
OFstuzg8s 289 HE
100,000& = 82l 800
307 QI2t01A 10,000 15,000 25,000
02 QB AE X 10,000 15,000 25,000
OsYH? 23tz J& . SH=d W
5,000,000 * 23] 10,000
252 & ALY 134,300 397,500 A 263,200
307 QI2t01™ 134,300 397,500 A 263,200
04 CIZtSHALE X 134,300 397,500 A 263,200
OMI% A9l Mg 288l
28,800,000& * 14 28,800
OHL=2ZAF CHAI Ml & st=AI0ILE
54,000,000& * 14 54,000
O%IEel TlAH X& 1,500,000& * 14 1,500
OZEl==d 50,000,000& * 14 50,000
g2 2GR 46,000 0 46,000
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=RYR X XH Ctol (S NIEAIA HAEZ AFOH X‘—-IL‘EL‘:— ot
‘—r‘l'o—.'_'ruﬂlj:”)' -”_I_ |'\:I°;Oﬁ (L] 0:”{:'_% (=]
201 LBt A 26,000 0 26,000
01 AtE222|H] 26,000 0 26,000
OFAZYESE AEEE 202
2,000,000& = 102/ 20,000
OFaclgtEad =) Xz
500,000& =+ 123l 6,000
401 A &HIL 2048 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OFAC=aE > 20,000,000& 14 20,000
=0[0/ ALY 300,000 360,000 A 60,000
& 150,000
Al 150,000
307 gI2told 300,000 360,000 260,000
& 150,000
Al 150,000
02 QIZtAAMEX 300,000 360,000 A 60,000
O830/0] A+ 300,000,000& = 14! 300,000
= 150,000
Al 150,000
S =ESESEE 2,700 2,700 0
= 1,350
Al 1,350
307 gI12told 2,700 2,700 0
= 1,350
Al 1,350
04 CIZFHAE X 2,700 2,700 0
Odlzd(2d) 2,700,000 » 14 2,700
= 1,350
Al 1,350
2ot 29.8s J# 80,000 215,000 A 135,000
307 212t01& 80,000 130,000 A50,000
02 ItAASE X 80,000 130,000 250,000
Ossu=sd 29 40,000,000 = 14] 40,000
Os3EMINSA 24 40,000,000 * 1A 40,000
Fotd AMHESKA 174,000 205,000 A 31,000
= 88,000
Al 86,000
307 212t01& 174,000 205,000 A 31,000
= 88,000
Al 86,000
02 QI2tBAE X 174,000 205,000 231,000
O=se=s4d 2gHI(2d)
120,000,000& * 14 120,000
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=T AEE 5

=
A ESEMY =E

2.9 MM . OO (5 HEAS . HAH2 dE e =}
—.‘—l—‘l'o—|'g‘rl(9|j:”)' J2AIY - BE S Of] AFoH S o
Al 62,000
OX9 =3t At 54,000,000& * 14 54,000
= 30,000
Al 24,000
2E HdEA X2 22,000 40,000 A 18,000
307 QI2t01& 22,000 40,000 A 18,000
04 QUZHHALE X 22,000 40,000 A 18,000
OZEH HAXA 15,000,000& * 14 15,000
O&ESH dAXIA 7,000,000& * 14 7,000
NLLEZSR AMSES 284,000 380,000 A 96,000
307 2I2t0l™ 84,000 180,000 A 96,000
02 QI2tAAE X 84,000 180,000 A 96,000
OUISHERT 18,000,000& * 14 18,000
O eol23Hal = 9,000,000& * 14 9,000
OLs==™ 20,000& * 500% 10,000
OSAH0 HOLtEH! g 29
30,000,000& * 14 30,000
OREERIHMES W=D R)
17,000,000 * 14 17,000
402 DIt X =01 N 200,000 200,000 0
01 It 22X 200,000 200,000 0
O23& AMEBE=H 200,000,000& * 14 200,000
dsFLLL 200,000 0 200,000
= 100,000
Al 100,000
401 AIEHIZ 2 200,000 0 200,000
& 100,000
Al 100,000
01 Al&HI 200,000 0 200,000
OZd=8 g 200,000,000& * 14 200,000
& 100,000
Al 100,000
NgEZsHE AMEY 2K 8,000 11,000 A 3,000
= 4,000
Al 4,000
307 QI2t01A 8,000 11,000 A3,000
= 4,000
Al 4,000
02 SI2tZASE X 8,000 11,000 A 3,000
OXNY 25 AL 2AX A
8,000,000 = 14 8,000
= 4,000
Al 4,000




A 2AFEI=ERXN= M 230z
H: S0 AEL € 4
ool 2EZSEMY =28 (9 E2
AR . B . MM .G (B HEAY . B2 AboH dE= Hos
Follzsus 8oLy 21,600 48,000 A 26,400
307 gI2told 21,600 48,000 A 26,400
02 QIZ+AAMEX 21,600 48,000 A26,400
OFstllzns 23244
00,000& * 3% » 9& 21,600
st 2Y 6,000 6,000 0
= 3,000
Al 3,000
307 212t01& 6,000 6,000 0
= 3,000
Al 3,000
02 BI2tAAEX 6,000 6,000 0
O2%sty 29 (2H) 6,000,000& * 14 6,000
= 3,000
Al 3,000
AMAIS Y Dl=UiA 70,000 90,000 A 20,000
& 10,000
Al 60,000
307 212t01H 70,000 90,000 A 20,000
= 10,000
Al 60,000
04 CIZFHALE X 70,000 90,000 A 20,000
OdAIEE0l=0A 70,000,000& * 14 70,000
= 10,000
Al 60,000
olRolHEEAHTR 60,000 70,000 A 10,000
& 30,000
Al 30,000
307 gI12told 60,000 70,000 A 10,000
= 30,000
Al 30,000
04 CIZFHALE X 60,000 70,000 A 10,000
Odlz - siads a3 60,000,000 » 14 60,000
= 30,000
Al 30,000
20118 2 S =238 & @At 640,000 0 640,000
= 320,000
= 96,000
Al 224,000
307 212t01& 640,000 0 640,000
= 320,000
& 96,000
Al 224,000
04 CIZFHALE X 640,000 0 640,000
0201143 232l & HAF  640,000,0003 = 14] 640,000
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0
)
0x

= - 2M -3 CA(SH) - MIRAIY - BHES e dd T Hos
= ° T == iy o L) ° T NS oS =5 &= 04| AFOH U=sa
= 320,000
& 96,000
Al 224,000
=oll=gs XN 925,502 1,121,200 A 195,698
= 35,000
Al 890,502
mag el 7,500 8,900 21,400
201 LEer23| 6,500 6,500 0
01 AtR22lH| 6,500 6,500 0
OAHLHHEZES FHILX 3,000,0003 + 14] 3,000
ORsSglEHs =S| 500,000& * 14 500
O%s8Y U= WM M 1,500,000& * 23| 3,000
202 4| 1,000 1,000 0
01 =LHOA b 1,000 1,000 0
OREL NS 2408
100,000& * 2% = 53| 1,000
tl=zstasid 341,000 458,000 A 117,000
201 Y| 6,000 6,000 0
01 AtR2t2ldl 1,000 1,000 0
OF0=dA EE S M
100,000& * 102 1,000
02 =323l 5,000 5,000 0
OES2dHE M=z 5,000,000& * 14 5,000
307 gI2told 330,000 447,000 A 117,000
04 QIZIHAIE X 330,000 447,000 A 117,000
OHM413 ZEU=sHd 25,000,000& * 14 25,000
OF3AE Z0=sH 9,000,000& * 14 9,000
OOy ZIAEs X&J
16,000,000 * 14! 16,000
OHM192 &= A&l B22& 8,000,000 * 14 8,000
OM125 CIxM=sHd 8,000,000 = 14] 8,000
OHM203 AlSI- e At 12,000,000& = 14 12,000
OHMzesl 34AEE8Y HI|AFS
1,800,000& * 14 1,800
OHN132 E=s&=&93tM 4,500,000& * 14| 4,500
OM73 X Za0IsH 8,000,000& = 14 8,000
Oxt2s Z2EX 8,000,000 * 14 8,000
OZE Hetel= YA HAEY
80,000,000& * 14 80,000
OHM413 OIS 2,700,000& * 14 2,700
O, =2, diel =gs
8,000,000 = 14 8,000
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AT BB2H2=XZ SN 2s0ED
Hu: SSETATE U B4
o9l 2stis2s X2 (25l &2
_ _ _ N E
A= 2M -3 - SAEH) - MRAY - BES Off &F K @Egj Hws2
ORI3E| FSANAIZ FOICehRHe
8,000,000% * 14! 8,000
ON13l S2SEAHT L A4
4,500,000% * 14! 4,500
OOLEH O ® 4,500,008 * 144 4,500
OJIEH 25H0IZ 8 A 13,000,002 * 14} 13,000
OFZEQSHF 7,000,008 * 14! 7,000
ORI193] HEE3stn 29
12,000,008 * 14} 12,000
OAT =N 90,000,008 * 14! 90,000
401 AlHIL = O] 5,000 5,000 0
01 Al&H] 5,000 5,000 0
OL2IUT 24 5,000,0002 * 14! 5,000
DIEHAEA RS 3,780 3,150 630
201 LBty 3,780 3,150 630
01 At 3,780 3,150 630
ODIEHANAARS BHalsg
70,0008 * 9 * 63 3,780
25 2I0zES 2 5,000 9,800 A4,800
01 LerE A 5,000 9,800 A4,800
10 BAAEI 243 5,000 9,800 £4,800
OUzHEs 24 10,0008 * 20% 2,000
OLRAIN &It 10,0008 * 10% 1,000
OLASHAAMS HIIEA 50,0008 * 202 1,000
OYATELIIQH FIHB4
10,0008 * 10% 1,000
MBI EHIKIR ALY 22 162,000 180,000 £ 18,000
307 QI2H0IH 162,000 180,000 18,000
03 AHSISHHI 2 X3 162,000 180,000 A 18,000
OMSISHRES 162,000,008 * 14! 162,000
HECH Ol 70,000 80,000 £10,000
307 QI2H0|H 70,000 80,000 £10,000
04 SIABARE 70,000 80,000 £10,000
OHLCHO & 70,000,008 * 14! 70,000
2502 ey 60,000 57,000 3,000
201 Yere2o| 2,000 2,000 0
02 ZZ2H| 2,000 2,000 0
ORIIAHZ AL 1,000,000 * 14! 1,000
OA&ZHIR X bl 10,0008 + 103l 1,000
307 QIO 58,000 55,000 3,000
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A2 BB SN 2SS
A 2= AEE € 4
D ZotoisEs XY (ctel: &
MR 2N I S(SH) - MBAY - BYS O] &k o8 B =2
0l &
04 QIHHALE X 8,000 5,000 3,000
OZE0I=2I18 Al 8,000,000& = 14 8,000
05 GIZtRE = 50,000 50,000 0
OZ S0l QINEHES
50,000,000& = 14 50,000
ZHEAHM==A 95,000 100,000 25,000
= 35,000
Al 60,000
307 212t01& 95,000 100,000 A5,000
= 35,000
Al 60,000
04 RIFHAIE X 95,000 100,000 25,000
OFAdEM==d 95,000,000& * 14 95,000
= 35,000
Al 60,000
ZEGAOICIHAMEHZY 177,622 164,750 12,872
101 el ] 104,322 80,450 23,872
04 JIZtHIZ2E2ENEE S 104,322 80,450 23,872
Ogantivdgzg o=y 93,229
=JlE2s 76,7003 * 4% » 230 70,564
oFFd 76,700 * 4H * 46 14,113
ocHIE 76,7009 * 48 « 11 3,375
oAt 14,3802 * Q0AIZt * 4H 5,177
OMNREZX oI2Y 11,093
SP==1 36,500& = 198 » 2309 8,395
oxFFd 36,500& » 18 » 46 1,679
oA=& 36,500 » 1H » 11 402
o A2t S 6,850 * QOAIZ2F » 1Y 617
201 Let2IH| 33,300 49,300 216,000
01 AFR 22| 22,100 22,100 0
O&EAEH & ¢ 800,000& * 14 800
T2 EE= M 5,000,000& = 14l 5,000
O&Md ¥ X=7¢ 2,000,000& * 14 2,000
OaZa Z28 AXt 5,000,000& * 14l 5,000
(@) FSUNEF=F= x| 1,000,000& * 14 1,000
OdEFFHI ==2ldl 2,000,000& * 14 2,000
OZ22 X% HAHI 200,000& = 12& 2,400
O= A Xt 150,000& = 128 » 104 1,800
Ogaeds a4 =
70,000& *» 10¥ * 33 2,100
02 23234l 11,200 27,200 216,000
oStz 100,000& = 123 1,200

_23_




a2 pEes=2 SN 280z
M 2MEEATE 2 84
250zEE X crol: 3 2
: _ . e =
=24 ZH - HR(BH) - MEAY - ByS ol il b o HRE2
ON&ZHISA 10,000,002 * 14! 10,000
301 et asg 30,000 10,000 20,000
10 HALAHIE &= 30,000 10,000 20,000
O0Itiu= ZAH 24 30,000,000& * 14 30,000
401 AlEHIZ ST 10,000 15,000 A5,000
01 Al&H| 10,000 15,000 5,000
OANd B & 22| 10,000,000& = 14| 10,000
FEoli=2sld 2Z 3 3,600 3,600 0
202 O4H| 3,600 3,600 0
01 WY 3,600 3,600 0
OSSN 23|
3,600,000& » 14 3,600
ANl 29 1,930,005 2,452,880 Ab22,875
AMEl=" 29 &4dst 1,930,005 2,452,880 N522,875
101 eI24b| 1,168 0 1,168
04 JIZHMIZ2XNSE =+ 1,168 0 1,168
OFIIeiFs B Ig 20| 1A
36,5002 = 4% +83] 1,168
201 2Bty 83,500 89,717 £6,217
03 @A EHI 83,500 89,717 NG,217
O EE HIIHFE 20X 4,000
cRUANERNE 3,000,000& * 14! 3,000
ools U AE YRt 1,000,000 * 14} 1,000
OO0t 243l 75,500
CRUAE M 7,000,000& = 102/ 70,000
ot =ZXE X 200,000& = 102 2,000
o) =EXtE Xt 200,000& = 102 2,000
oIt ¥ 28t 150,000 = 102/ 1,500
OmEA=R &It 2,000
coRssY U
1,000,000& = 12| = 1CH 1,000
colastY YRt
1,000,000& = 12l = 1CH 1,000
OUEoI 2 &= 8t 2 5T 1,000
cEITALSIY Y
1,000,000& * 13| = 1CH 1,000
ONEZHMEHSH 1,000
cEIHALEIY Y
1,000,000& * 13| = 1CH 1,000
301 YsrE a3 1,812,337 2,344,963 A532,626
10 EAIAHIEA S 18,954 0 18,954
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0z N>
-

—E—ﬁ%@l%_'.:_/\l}_g 2 =4
ANzt 2 (H:H2)
2.9 Mz . Ctol (5 S ALO] . HA 2 Al OH MEE =03
OUHCENE AJIBEsE +
4,000,000 * 14 4,000
OllstEgdas=4 4,000,000 * 14 4,000
OllsH2gfdse 1,000,000& * 14 1,000
Oote 8&83 100,000,000& * 14 100,000
405 KtatE S| 33,000 18,200 14,800
01 MHaEESHSHI 33,000 18,200 14,800
oo|7d 33,000
SRR 33,000,000& = 1CH 33,000
Z23Z0F StEAA &S 642,823 1,243,583 A600,760
& 100,000
Al 542,823
Fot=20F otEAN =E 2E3Y| 6,100 6,100 0
202 O4dl 6,100 6,100 0
01 =LHA b 6,100 6,100 0
OF3Z0F stEAH=ESE 2ZZ |
6,100,000& * 14 6,100
&g =0y 2+ 60,308 0 60,308
101 el24H| 15,308 0 15,308
04 JIZtHZ22XNsSE+ 15,308 0 15,308
ONdEXZIHE 22| =22 15,308
oJlleag 43,0003 » 1H = 230 9,890
oFsd 43,0003 * 198 * 46 1,978
ocHXtsY 43,0003 * 18 » 11 473
o A2t 8,060 = 8AIZ2+ » 46 2,967
401 AIEHIZ R 45,000 0 45,000
01 Al&HI 45,000 0 45,000
ONY FaE o Y FHEHIAI
40,000,000 * 14 40,000
O=J101g Sl ¥ &S Ht2|
5,000,000& = 14! 5,000
2322 Hel 43t 16,000 20,000 24,000
307 2I2t0|™ 16,000 20,000 A4,000
04 CIZFHAE X 16,000 20,000 24,000
OZ3te] Hel #At 16,000,000 * 14 16,000
o -oidds 23 X4 80,000 250,000 A 170,000
401 AIEHIZ 2 80,000 250,000 A 170,000
01 Al&HI 80,000 250,000 A 170,000
OH20HY 23 80,000,000& * 14 80,000
2S5 OtEHH HE 205,575 444,600 A 239,025
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-

for fob

M0 Mo

SN EH . O (3) - HIBAY - BAS Ofl A o4 ggi HRS2
201 et d| 13,440 3,600 9,840
01 AFERZelbl 13,440 3,600 9,840
OOCIEHH <23 == (ESHEY)
100,000 * 12 *x 43| 4,800
OOCIEHH Q23 &4 AHEA(S2MHEA)(
St Q) 180,000 * 12 x 43| 8,640
301 LBEtEAZ 192,135 438,000 N 245,865
12 JIEIEA 2 192,135 438,000 A 245,865
OBTLAIY HMISHAENH)HIE BEAM(E2MEA)
192,135,000 * 14) 192,135
fl=F&0E X4 24,840 150,000 A 125,160
201 Bt23d| 24,840 0 24,840
01 At22telyl 7,000 0 7,000
O=s2=M# 5,000,000& = 14! 5,000
OJIE 2gd| 2,000,000& * 14! 2,000
02 S=s294l 17,840 0 17,840
O&IICtHAAN === 170,000& = 12& 2,040
O REE= 100,000& * 13| 100
O&Il= 600,000& = 12& 7,200
Oasdt=ZAIEZ 500,000& = 14 500
OR0lALIANEE 300,000& = 12& 3,600
OolHYl g & Salz 200,000& = 128 2,400
OA & &EHl s X b 2,000,000& * 14 2,000
HdFIIES 22 50,000 0 50,000
401 AEHIZE20UHI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OdEIIE=Z RA 2 50,000,000& = 14! 50,000
E I} g2 A 200,000 0 200,000
& 100,000
Al 100,000
401 AlEHIZLL20I 200,000 0 200,000
& 100,000
Al 100,000
01 Al&H| 200,000 0 200,000
OZE X =22 HE 200,000,000& = 1A 200,000
= 100,000
Al 100,000
St 2EBE 3,880,205 5,648,975 AN1,768,770
= 847,501
J| 124,904
& 331,794
Al 2,576,006
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Z2=X=
St 2EEE
M ES - B - Ft

M0 MO

= X . ClO (5 B AL . HAM 2 | OH HEE =2}
N 25 - 2= - &l 3,128,533 5,134,552 A2,006,019
= 747,501
| 124,904
& 177,744
2,078,384
Z3M 25 .24 . FHIAIY 29 3| 4,900 4,900 0
202 44| 4,900 4,900 0
01 =LA b 4,900 4,900 0
OZ3M B25.2= .88 2g93Y|
4,900,000& * 14 4,900
AFARX AFE X 22l 50,000 50,000 0
201 LBt H| 30,000 5,000 25,000
03 At 30,000 0 30,000
OZALALX] st= MIDILE 30,000,000& * 14 30,000
301 LEtEAZ 20,000 0 20,000
12 JIEt2 43 20,000 0 20,000
O=LHALR AR XU D13 & 24
20,000,000& * 14 20,000
SAAK EXI 2 XES e 722,884 411,429 311,455
= 490,000
& 105,000
Al 127,884
401 AlEHIZ 2 722,884 411,429 311,455
= 490,000
= 105,000
Al 127,884
01 Al&HI 722,884 411,429 311,455
OEXN % X&= e 700,000,000& * 14 700,000
= 490,000
& 105,000
Al 105,000
OEX % XN&EE MY (SsHEY)
22,884,000 * 14 22,884
2o & =8 S#ZE| 25,308 21,153 4,155
101 21244l 25,308 21,158 4,155
04 JIZ 22 HEE+ 25,308 21,153 4,155
OBl s MIE 22l oY 15,308
SPIEt= 43,0003 » 1% » 230 9,890
oxgd 43,0003 » 19H » 464 1,978
cHXtY 43,000 » 1H = 11 473
o A2t 8,060& * 8AIZt * 46 2,967
O s3 &l 10,000,000& * 14 10,000
=2 & EXNNHY 174,294 411,429 A237,135
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42 BN A 280D
HM: ZN FEE=
2SN Es - B Fl (9 E2
AZ 2N - FH - CRA(FAH) - MRAE - BES a4 Hlw &2
= = o7l (= ° - = e e 0:”/&,% Lsa
= 19,000
& 25,500
Al 29,794
401 AIEHIZ 20U 174,294 411,429 A237,135
= 119,000
= 25,500
Al 29,794
01 Al&HI 174,294 411,429 A237,135
OEXHe 170,000,000& * 14 170,000
= 119,000
= 25,500
Al 25,500
OEXNNY(EENEHY 4,294,000& * 14 4,294
A2 22 15,308 0 15,308
101 Ql244| 15,308 0 15,308
04 JIZtHZ22 a2+ 15,308 0 15,308
Oogga o= 15,308
SPIEt= 43,0003 » 1% » 230 9,890
oxsd 43,0003 » 19H » 464 1,978
ocHXtY 43,0003 » 19 » 11 473
o A2t 8,060& * 8AIZt * 46 2,967
HdEZM B+ & A2 100,000 100,000 0
401 AlEHIZ2OHb| 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OXNF =M E= =22 100,000
oXNEZ3M = 90,000,000& *» 14 90,000
o3 otEr & 10,000,000& * 14l 10,000
FZs EE2| 24,000 35,900 A 11,900
201 LBt 6,000 15,900 29,900
01 AtSR2t2ldl 6,000 1,000 5,000
O3 dEAY XL FX X2
1,000,000 * 14| 1,000
O=s M 222 M 5,000,000& * 14 5,000
301 L2 AZ 5,000 5,000 0
12 JIEtE2 43 5,000 5,000 0
OIS SEIIRAJAAHE L
5,000,000& * 14 5,000
307 212t01& 13,000 15,000 A2,000
02 QB AEX 13,000 15,000 A2,000
OZEAl Bz 222 13,000,000 = 14l 13,000
SRBIESM LMAAE 2= 14,286 150,000 A135,714
10,000
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Jit
bl
H
1
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W

T
x
2
bal
=

2.l (5]) - NS ALY - B

=2
M
12

=M

857
3,429

401 AlEHIZ 2]

>

14,286
10,000
857
3,429

150,000

A135,714

01 Al£Hl

OMSGLHAAS RS &K |

14,286,0002 * 14!

=X

14,286

14,286
10,000
857
3,429

149,000

A134,714

= H W

25,000
17,500
1,500
6,000

19,383

5,617

307 QI2+0|H

= H W

25,000
17,500
1,500
6,000

19,383

5,617

02 elzt

=]
2 =J101g 201 25,000,000 * 14

= H o}

25,000

25,000
17,500
1,500
6,000

19,383

5,617

S

H

116,000
69,600
9,280
37,120

174,000

/58,000

101 o124t

=X

116,000
69,600
9,280
37,120

174,000

258,000

04 DJI2+Al

22xs24
oOzg=x

for

=
[

THZ2I 2 AL (D1 2ERIZ2 2 X Bi X
116,000,0009! * 14!

= H X

116,000

116,000
69,600
9,280
37,120

174,000

258,000

= H X

7,840
4,704

627
2,509

17,501

A9,661

101 @121H]

=X

7,840
4,704

627
2,509

17,100

29,260

04 JIZH2Z NSRS

7,840

17,100

A9,260
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A= A== A 2F0=
H: 2SN FEEES
&2l 23 Es - B - | (&9 HM
N MNEH . ClO (5 HEAY . HN 2 A} OH HdE T H =2
OJI2tH22Xs B 7,840,000& * 14 7,840
| 4,704
& 627
Al 2,509
LS RESEAZ cIB2EAMY 783,312 700,000 83,312
401 AIEHIZ 2O 783,312 700,000 83,312
01 Al&HI 773,312 655,000 118,312
SEFAIZ 2I2LA('10E AIHIOIRE)
700,000,000 * 14 700,000
ORSEANS 22 (EESHEY)
73,312,000 * 14 73,312
03 Al =20HY| 10,000 0 10,000
SETAZ IR (EEMEHY)
10,000,000& * 14 10,000
SREIZSN Yet2elEY 36,000 0 36,000
J| 25,200
& 2,160
Al 8,640
201 et 36,000 0 36,000
| 25,200
& 2,160
Al 8,640
02 232ZH| 36,000 0 36,000
ogsaeid 849 36,000,000& * 14 36,000
| 25,200
& 2,160
Al 8,640
MNI=ERRE 2Z 7,401 0 7,401
= 2,001
Al 5,400
301 LEt8 A= 7,401 0 7,401
= 2,001
Al 5,400
09 SL2RRIABLAZ 7,401 0 7,401
O3U2RA 21AH| 2,001,000& * 14 2,001
= 2,001
O3AZ2RA 1A (ABI=I)
5,400,000& * 14 5,400
NeEZ3 M 234 790,000 0 790,000
402 It X =01 A 790,000 0 790,000
01 It G=EEX 790,000 0 790,000
OZSHAMAEZ=HAH| (109 AHIDIEH)
150,000,000& * 14 150,000
OZSALQAIINE('10E ABIOIRE)
200,000,000& * 14 200,000
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tol toi g
=HZH
HI o
folr og

HT

M

hi
1

- FH| (e @

CEN B OR(E) - NBEAY - B S 0l &k 24

=1

R

121
==
El
i
oy

OEIIALL A (1109 AIHIDIRE)
300,000,000& = 14| 300,000
OFESAMERAE (104 AlHIDIRE)
140,000,000& = 14| 140,000

g5 2= FHEH 70,000 0 70,000
49,000
10,500
10,500

= H W

401 AIEHIZL 20U 70,000 0 70,000
49,000
10,500
10,500

= N W

01 A&l 69,500 0 69,500
OEXNA WM % =HIHISA
69,500,000& = 14! 69,500

48,650
10,425
10,425

03 A2 R04Hl 500 0 500
OAIZ 204 bl 500,000& * 14 500

350
75
75

= H W

= HH

=R L2 LMAIAE X2 22,000 0 22,000
15,400
1,320
Al 5,280

S

H

201 YEH2HH| 4,000 0 4,000
2,800
240
960

=N

02 33234l 4,000 0 4,000
H

| = Xl 4,000,000& * 14l 4,000

2,800
240
960

= mn X

401 Al HI LS HHI 18,000 0 18,000
12,600
1,080
4,320

= mn X

01 A&l 18,000 0 18,000
OZ Al 18,000,000& = 14| 18,000

12,600
1,080
4,320

= mn X

HSAMEE=FH 140,000 0 140,000

70,000
21,000

M
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04 Nz

=2 AL2=X= 24 230=0
M. 2o AEB=
23l B - Bz - "4 oM
- _ _ poE N
2N - E3H - SHA(SH) - MEAMY - BAS b 'Oﬁ/'\_ﬁ;ﬁ =&
Al 49,000
QI2t X201 A 140,000 0 140,000
= 70,000
= 21,000
Al 49,000
Q228X 140,000 0 140,000
O&EEA HHE S A 80,000,000& * 14 80,000
= 40,000
= 12,000
Al 28,000
O8AHA XISE+=3At 60,000,000& * 14| 60,000
= 30,000
= 9,000
Al 21,000
2= 751,672 514,423 237,249
= 100,000
= 154,050
Al 497,622
23 M52 K& 153,600 118,200 35,400
= 76,800
Al 76,800
Bt AR 153,600 118,200 35,400
= 76,800
Al 76,800
JEIEAIS 153,600 118,200 35,400
ORE2MESS K& 153,600,000& * 14] 153,600
= 76,800
Al 76,800
FESSIE =AY 2F 3| 2,400 2,400 0
202 04d| 2,400 2,400 0
01 2LH0 bl 2,400 2,400 0
OSEZSILZAIY 29HY|
2,400,000& * 124 2,400
HXE23HH 23| 100,000 100,000 0
401 Al EHILE20HY] 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OHIXNEES M | B4
100,000,000& * 14 100,000
PEHESM(2MEA) ESXE 14,500 16,000 A1,500
< 7,250
Al 7,250
oI2tol & 14,500 16,000 A 1,500
= 7,250
Al 7,250
QI2tF A B X 14,500 16,000 A 1,500
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S BHRE
SHE2oE= (et =3
_?_A_I X XH }\.”_l?l_ |.O-| Ve S == X‘—-IL‘E—“:— I:”DI_ED}'
ORE 2 ( JREXE(EA)
14,500,000& = 14| 14,500
& 7,250
Al 7,250
SHMEES XA 60,000 40,000 20,000
S 30,000
Al 30,000
307 2120l & 60,000 40,000 20,000
= 30,000
Al 30,000
02 2ItA3AE 60,000 40,000 20,000
Ok =]~ 5= =l 60,000,000& * 14 60,000
= 30,000
Al 30,000
23 dS 135,500 159,000 A 23,500
307 2120l & 135,500 159,000 A 23,500
02 elt3 a2 71,500 76,000 24,500
OdAd=0ts SX&
4,500,000& * 14! 4,500
SRIEEE 2
17,000,000& = 14 17,000
OXlel=ol X
45,000,000& = 14! 45,000
O=s2 ol 5,000,000& * 14 5,000
04 DIZHHALSE 64,000 83,000 A 19,000
Od=s2Uzl FIXHAL
16,000,000& * 14 16,000
O&= 50 =H XA
24,000,000 * 14 24,000
OZAUZM==H XA
24,000,000& * 14 24,000
g2 2e| 29 65,672 78,823 A 13,151
101 1A 14,072 13,473 599
04 JIZtMIZ2XHsSE = 14,072 13,473 599
OZAsIIga el 2F AR 12,997
=JIZg 6,500& * 18 » 230 8,395
oxFd 36,5002 » 18 * 46 1,679
o AXt=E 36,5008 » 18 = 11 402
oAt =H 6,850 * BAIZ+ * 46 2,521
OdlzdolH&d JI8& =8 Fd R
43,0008 = 259 1,075
201 LEH2HH| 41,600 55,350 A13,750
01 AtE222/Hl 11,100 11,850 AT750
OStMt=MI] M2 2 1,500
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0z N>
-

MR SNBSS () - HTAY - BAS b HInE
ol &t o
cdASIE2 300,000 * 14] 300
o5lZo S 200,000 * 14] 200
(OUNF=F=4:1E=IN 4,000
oAtEOHE E >3
1,000,000& * 14 1,000
oAM= 1,000,000& * 14 1,000
cdASEIE 1,000,000& * 14 1,000
oola@dtd 1,000,000& * 14 1,000
401 AIEHIZ 20 10,000 10,000 0
01 Al&HI 10,000 10,000 0
oJ1ga AlE 10,000,000 * 14| 10,000
dEsAYE 2 HE 200,000 0 200,000
= 100,000
= 30,000
Al 70,000
401 AIEHIZ 2O 200,000 0 200,000
= 100,000
= 30,000
Al 70,000
01 Al&H| 200,000 0 200,000
O3 AtHI 200,000,000& = 14 200,000
= 100,000
= 30,000
Al 70,000
2EMELEEES 20,000 0 20,000
= 10,000
Al 10,000
307 QI2t01A 20,000 0 20,000
< 10,000
Al 10,000
04 SItHAIE X 20,000 0 20,000
O&E AtECl 20,000,000& * 14 20,000
& 10,000
Al 10,000
HY2IHU(Z30=t) 34,300 33,300 1,000
Jl2& | 34,300 33,300 1,000
Jl2Z | 34,300 33,300 1,000
201 2Et23| 20,700 20,700 0
01 At eIt 20,700 20,700 0
OgstgH] 13,500
CHINRE 5,000,000& » 14 5,000
odHEH| 3,000,000& * 14 3,000
oJ|EF LBt 3,060,000& * 14 3,060
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42 2BEHEXI SN HSEAED
g3 MsdE
SENEE Y e
22N ZY - S(EH) - MRAY - BES 0f et o e DS
ZSER} 9,029,890 14,925, 187 5,895,297
Jl 346,960
= 276,100
Al 8,406,830
= 8,104,073 13,951,126 A5,847,053
Il 157,018
< 252,400
Al 7,694,655
MEsA 4,795,513 6,371,891 ~1,576,378
< 250,000
Al 4,545,513
=3 K& 520,807 436,963 83,844
301 LEtE2HS 103,607 102,263 1,344
12 JIetE4a =2 103,607 102,263 1,344
OM=z2l elit| 89,743
oMNR=F 57,591,000& = 1& 57,591
oHPREX 32,152,000& = 1& 32,152
OAxERE=S 9,371
o=z x 98,717,000 * 4.5% 4,443
ocAdUEE= 98,717,000 * 2.24% 2,212
cNEEEE 98,717,000& * 1.75% 1,728
oM EE = 98,717,000 * 1% 988
OEXAE=S 4,493,000& * 1¥ 4,493
307 RI2H0|& 397,200 329,700 67,500
02 SIHFABE 382,900 312,200 70,700
OFUNEK I 202,000,0008 * 14! 202,000
OM=gdR& st 5,400,000& = 14 5,400
Od+=sd% 2=+0t22l  13,500,000& * 14 13,500
Ofsdd+F4% SfUEHEH
60,000,000& * 14! 60,000
OWX=+ 8432 60,000,000& = 14 60,000
OWXNEAES K= AHI Xl 42,000,000& * 14 42,000
03 AtRIEHMEXS 14,300 17,500 A3,200
OAtal St X & 14,300,000& * 14 14,300
402 2IZ2tt=01d 20,000 5,000 15,000
01 BIAXG=EX 20,000 5,000 15,000
OO EE=CEs 5,000,000& * 14 5,000
OREZH 7Y 15,000,000& * 14 15,000
HI 20X 314,000 398,000 284,000
307 elztold 314,000 398,000 284,000
04 UI2FSHALE X 314,000 398,000 84,000
Od=n2U=2X& 314,000
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A2 AZ2I=XD SN HS
o HSIS
d2H=Esd (et =3
- _ = ME
22 FY - SQ(3H) - MBAY - B Y Ol AF o8 HluS2
oMM &It 10,000,000& = 14 10,000
odIsdHE X 5,000,000& 5,000
oMIARE EFUEI(3H)
250,000,000& 250,000
A E=HEH= U3
35,000,000& 35,000
o2/ S0FRHUEONER Ot
5,000, 000& 5,000
ol42 2 =g HIIEIII=UE
,000,000& 9,000
ERE2HEXE 347,000 433,000 286,000
307 GI2t0I & 347,000 433,000 A 86,000
04 BIZHHAIE X 347,000 433,000 A 86,000
O&E#E2Ua XA 347,000
o X203 2EHAM0tetEUE
7,000,000& & 7,000
o Ml46al CCIXM NS
300,000,000 * 14| 300,000
o URAEAEXNMEE DL 20,000, 000& A 20,000
o SO Mol SAal A 20,000,000& = 14! 20,000
ANR2HE X 49,000 67,500 A 18,500
307 GI2t0I A 49,000 67,500 A 18,500
04 BIZHHAIE X 49,000 67,500 A 18,500
OAN#EU2 K& 49,000
oM162 =AW I
2,000,000 * 14! 2,000
o X162 OFE &I
5,000,000& * 14| 5,000
o HMl4al AMEIIZZ0HE  4,000,000& * 14 4,000
o HMl4al AMEIISHMH2  7,000,0008 * 14 7,000
o N33 AIZEIIEHAZUE
8,000,000& * 14 8,000
o JIEIAIRE2HE 10,000,000& = 14 10,000
c201MSHAEERID 13,000,000& = 14| 13,000
SXIADI TS & Ot 15,200 22,000 26,800
307 2120l & 15,200 22,000 26,800
04 QIZHHALE X 15,200 22,000 26,800
OZXIALDICH 3| & It 15,200
oM12s = -5 S4U3
4,000,000& * 14! 4,000
o M12s =2 4,000,000 * 14! 4,000
o X158 S U=l 1,500,000& * 14 1,500
oM17al ==l 1,500,000 * 14! 1,500




42 2BEHEXI SN HSEAED
g3 MsdE
el A2HS S e
22N ZY - S(EH) - MRAY - BES 0f et o e DS
o X162 EHAE=Z 2,000,000& = 14 2,000
o M172 =W 1,000,000 = 14 1,000
ol23s =Xz 1,200,000& * 14 1,200
SAH=29E 1,576,293 2,503,034 N926,741
101 el 12,341 11,997 344
04 JIZtHZ2NSE=> 12,341 11,997 344
Og=aetelol 12,341
oJlZs 43,0008 » 1& » 230 9,890
oxxag 43,0003 » 1 = 46 1,978
ot 43,0003 » 1 = 11 473
202 O 15,004 17,100 N2,096
01 =LHAOYI 15,004 17,100 A2,096
OFFU2AEIH S 0Bl 15,004,000& * 14 15,004
301 LEtEa =z 1,513,948 1,505,937 8,011
o=tz - 2SRS2HS 1,513,948 1,505,937 8,011
o2 30 757,500
oI X 37,500,000& » 1&H 37,500
o EdloIH 35,000,000& = 1 35,000
oMEEOIH 25,000,000& =+ 1 25,000
oSgds 34,000,000& = 29 68,000
cAgd 31,800,000& = 7¢& 222,600
oBgd 27,400,000&  6¥H 164,400
ot 22,500,000& = 64¥ 135,000
SDEFES 14,000,000& * 5& 70,000
oxs+¢ 245,200
o= =] 29,400,000& = 14| 29,400
ocRas 17,900,000& * 22/ 35,800
oSel=g(53HE)  10,000,0008 * 182 180,000
OAERE=S 71,888
o3& 757,500,000& * 4.5% 34,088
oHdIEE= 757,500,000& * 2.24% 16,968
clELE= 757,500,000& * 1.75% 13,257
ottiiE8 = 757,500,000& * 1% 7,575
OEXREYE= 53,000,000& * 14| 53,000
O 244 186,960
oz EdH 5,000,000& * 14 5,000
o™X ES(SH,6HH)  12,000,0008 * 23 24,000
o3 EEHI(1/2201F)
80,000& » 29 = 53 122,960
o 2K = 40,000& 299 = 102/ 11,600
c2HESH 1,500,000& * 43 6,000
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A3 BPRI=NZ SA AR
d: HEEE
C MEN=EEY CHe &
SN EE O () - MRAY - BAS Ao dd = HRS2
O & 04
o I =4I 300,000& * 299¥H = 23|
OFRH0IE= 30,000,000& * 14!
(@)=
o g Al 250,000& » 299 = 12&
o 2tAlH| 2,000& * 20 » 252 x 12&
o 2gH| 200,000& = 123
cBBR2(MIIL=2S) 800,000& = 12&
ostEd & | 1,000,000& * 23]
oME=E 500,000& = 23| 1,000
Oal g3l 20,000,000& = 14! 20,000
Ogdet2d | 25,000,000 = 14! 25,000
OUlAdEgelOsE2dg| 5,000
o AEEHENE 5,000,000 * 14! 5,000
30,000 40,000 A 10,000
8x 30,000 40,000 A 10,000
2l AR HEYI 30,000,000& * 13| 30,000
F =4I 5,000 850,000 845,000
= =7 SHI 5,000 850,000 845,000
Y 2SsHHFY 5,000,000& = 14! 5,000
565,352 436,118 129,234
u 40,000 0 40,000
Hl 40,000 0 40,000
SAX=E X2 40,000,000& * 14l 40,000
301 2EtEAZ 515,352 426,118 89,234
1 st - 2PSESEA2 515,352 426,118 89,234
O=4M=2 20 339,000
SYNEDN 40,000,000& = 1H 40,000
o EZWE 45,000,000 = 1H 45,000
Sy f=FaEs 38,000,000 * 5¢ 190,000
oBZ N 32,000,000& * 2¢ 64,000
(OFAEE=y 37,400
oAbt AZ 8,000,000& * 14] 8,000
oEYHIMZ 6,000,000 = 14! 6,000
o=JlE ¢ 6,000,000 * 14 6,000
oZFH4E 15,000,000& = 14 15,000
SPNE=EE, 2,400,000& = 14! 2,400
O==H| 5,040,000& * 14 5,040
OLERES 32,172
o=0HZ& 339,000,000& * 4.5% 15,255
oHAEBE= 339,000,000& * 2.24% 7,594
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2 23=X= FAMHsE2EL
CHSEAE
SENEE Y e
S - HE L SRI(B) - ALY - B S 01 &t o8 e HlRE2
SPNE= 3t =Rl 339,000,000& = 1.75% 5,933
oMIEE = 339,000,000& * 1% 3,390
(OJESE == 2,500,000& = 99 22,500
OE =224l 38,640
o ZItg =AH 2,000,000& » 14 2,000
oMXE& | 12,000,000& = 14 12,000
o3l =& 13,000,000& = 14 13,000
o RAXIZ I 60,000& » 9H * 63 3,240
CcEHES 7Y 3,000,000& 14 3,000
o Il = 4| 300,000& = 9% * 23l 5,400
Og=a2dY 38,600
oAl 250,000 + 9& « 128 27,000
o 2+AlY] 2,000& = 9Y * 252 » 12& 5,400
o23H| 150,000& = 12& 1,800
°oZE3R=3 200,000& = 122 2,400
oZ EHI 1,000,000 *» 14 1,000
cHEERF 1,000,000& » 14 1,000
A E 3 2,000,000& * 14l 2,000
AHF = 10,000 10,000 0
ML 2EFHSHI 10,000 10,000 0
JIXMN & 2s&d 2L
10,000,000& = 14 10,000
QERSY 292,239 246,177 46,062
et &= 287,239 236,177 51,062
=t - EPSFRSEU= 287,239 236,177 51,062
ORER®R =d 168,000
SPNE-DN; 40,000,000& = 1 40,000
oSzl 40,000,000& = 1H 40,000
oA i 38,000,000& » 1Y 38,000
olad 25,000,000 * 2% 50,000
o4&+ 34,400
o Bt Alg 12,000,000& = 14 12,000
oEgiLazg 2,000,000& 14 2,000
oxJtlE=¢ 10,000,000& * 1A 10,000
ogFdad 8,000,000& = 14l 8,000
PN 2,400,000& * 14 2,400
O==l 4,500,000 14l 4,500
OAUERE= 16,419
o=z = 173,000,000& * 4.5% 7,785
cAUEHE 173,000,000& = 2.24% 3,876
SPNE= 3t R=d 173,000,000& = 1.75% 3,028
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A3 BPRI=NZ SN HMSEAED
M HsEE
SR SESUET-YE (et &2
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
oMIEE = 173,000,000& * 1% 1,730
OEAREHS 5,000,000& » 29 10,000
Og2&Hl 27,100
oEd 23| 150,000& = 12& 1,800
oMXIE& | 500,000& = 5% * 23l 5,000
oz &d| 500,000& = 5& = 43| 10,000
o 24X =Yl 60,0003 » 5% * 62 1,800
cEHES Y 300,000& = 59 = 33l 4,500
o Il S H| 300,000& = 53 « 23] 3,000
o &l = Xl | 1,000,000& *» 14 1,000
Og=a2dY 25,820
oAl 250,000 + 5& « 128 15,000
o 2+AlY] 2,000& = 5% * 252 » 128 3,000
o23dH| 110,000& = 12& 1,320
oI Hl 350,000& = 62l 2,100
°oZ3L=3 200,000& = 12& 2,400
oZ EHI 1,000,000& » 14 1,000
cMERF 1,000,000 * 14! 1,000
Oa e sl 1,000,000& * 14 1,000
405 XtobE SHI 5,000 10,000 25,000
01 T =SS FH SHI 5,000 10,000 25,000
OJIXNMNY 2s&dl ++&  5,000,000& * 14 5,000
YaE2I 360,003 361,586 21,583
301 LB A 355,003 351,586 3,417
1 st - 2SRSELS 355,003 351,586 3,417
OgaR =0 194,000
o X&Xt 40,000,000 * 1& 40,000
ocSEgd 40,000,000 » 1H 40,000
oAl 38,000,000& = 3% 114,000
oxs=+¢ 42,900
otz Az 12,000,000& * 1A 12,000
ocEEIAMZ 1,500,000& » 3% 4,500
oI ESY 500,000& = 2% = 128 12,000
oczdxg 200,000& = 5% = 12& 12,000
PN = 200,000& * 14 » 12& 2,400
O==Hl 5,000& » 4% » 280 5,600
OAERE= 16,703
o=0lgza 176,000,000& * 4.5% 7,920
cAUEHE= 176,000,000& * 2.24% 3,943
cIEEEE 176,000,000& * 1.75% 3,080
oM THEE = 176,000,000& = 1% 1,760
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42 BBESEN3 2AHSHAED
M MsdE
oo HEHNSSA CLELE
2. 2N HY O (BH) - MBAY - BAS 0f b S H RS2
0f & o8
OJSESE == 5,000,000 * 2% 10,000
Og2gtl 29,100
cZ2d 23| 150,000& * 12& 1,800
o&Xl=&dl 8,000,000& * 14 8,000
otz &&| 10,000,000& * 14 10,000
o 2AXZHI 1,300,000 * 14 1,300
cEdHEZEHI 5,000,000& = 14 5,000
SIE=1.] 300,000& * 5% * 23| 3,000
Og=22g% 25,700
ogAld| 250,000& = 5% * 123 15,000
o Z2tAlH| 2,000& »5FH * 252 » 12& 3,000
oc2gl 100,000 = 12& 1,200
ozl 350,000 * 6& 2,100
ocEx3R23 200,000& * 12& 2,400
oA | 1,000,000& * 14 1,000
oME=EZE 1,000,000& * 14 1,000
O2sAM4 ez 2,500,000& = 123 30,000
O4aldE 3| 1,000,000 » 14 1,000
405 KtatE S| 5,000 10,000 A5,000
01 MY 2EFHSHI 5,000 10,000 25,000
OJIXM € 23&H & 5,000,000& 14l 5,000
QA H RS 116,135 181,553 765,418
301 LetEA3 111,135 176,553 65,418
11 flsta - 2s2sS243 111,135 176,553 AN65,418
OHOMAIZEE 2 56,000
oAt 28,000,000& * 29H 56,000
oxs=¢ 17,000
otz Az 4,500,000 * 14 4,500
ocEEILAF 1,700,000& * 14 1,700
o3 JtESY 6,000,000& * 14 6,000
oEdH 4,800,000& * 14 4,800
O=s=d| 5,000 » 2% * 280 2,800
OEE-E == 5,315
St = 56,000,000& * 4.5% 2,520
cAAEE = 56,000,000 * 2.24% 1,255
clZEEdER 56,000,000& * 1.75% 980
oMTHEAEZ 56,000,000& * 1% 560
OJSESE == 5,000,000& = 1H 5,000
Og22ZHl 16,220
cz2d 23l 1,800,000& * 14 1,800
o&dXl=&dl 4,000,000 = 14 4,000
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A= 222 =A= M MsEAEY
d: HEEE
el A2HS S e
AZ BN HH O (BH) - MBAY - BAS Ofl A o4 dd = HRS2
O & 04
o3 &&HI 5,000,000 * 14] 5,000
o fAX| 2 HI 60,000& * 2H x 63| 720
osdEsz+Y 2,500,000& * 14 2,500
oIl =H] 300,000& * 28 = 23] 1,200
o &H|l S XYl 1,000,000& * 14! 1,000
(@)=IE=FASe:| 7,800
o Z2AH| 250,000& * 29 x 128 6,000
o Z2HAH| 2,000& * 2% » 252 x 128 1,200
o 23| 50,000& = 12& 600
Oal g g3l 1,000,000& * 14 1,000
405 KHAFSHI 5,000 5,000 0
01 MY = EF SHI 5,000 5,000 0
OJINME2SEE 7L 5,000,000& * 14 5,000
oletolE 8 2Y 140,563 153,463 A 12,900
301 2EtEAZ 135,563 148,463 A 12,900
1 =3 - 2SESEA2 135,563 148,463 A 12,900
OoletolEeise 20 70,000
oA %= 35,000,000& * 2H 70,000
Oox&sE 14,500
oAb AZ 1,800,000& * 14! 1,800
oEYIAZ 1,700,000& = 14/ 1,700
o= JIHELE 6,000,000 * 14 6,000
oZEHLE 5,000,000& * 14! 5,000
O==H| 5,000& » 3% * 280 4,200
OLERE= 6,643
o=0HZ & 70,000,000& * 4.5% 3,150
oAU E= 70,000,000& * 2.24% 1,568
ocllEBEE= 70,000,000& * 1.75% 1,225
oMMEEE 70,000,000& * 1% 700
Og&ageZ 5,000,000& * 2H4 10,000
Ogadg9y| 14,720
oZ=HIYHI 150,000& ~ 128 1,800
oM XIZ&H| 500,000& * 2H x 43| 4,000
o3 &&HI 500,000& * 2¥ x 43| 4,000
o2 AXIZH| 60,0003 * 2H x 63| 720
ozdHEEZ1Y 3,000,000& * 14 3,000
SHTIE==Nsl 300,000& * 28 = 23] 1,200
(@)=iE=—FASe:| 14,500
o Z2AH| 250,000& * 29 x 128 6,000
o 2HAH| 2,000& * 2% » 252 x 128 1,200
o 2% 150,000& = 12& 1,800
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AR BF2FH=2X2 2N HSEAED
Y AKTS
D MEHEsd (&te: @2
} _ _ bolEN=
=2 .25 -3 .. A2(FH) - NHEAMY - BHAES @;OH Hl =2
o ¢ 2| 350,000 * 63 2,100
ocZZ2R22 200,000 * 122 2,400
oMERE 1,000,00084 * 1Al 1,000
Oal e 3IH| 1,000,0008 * 1Al 1,000
405 KHAHE S 5,000 5,000 0
01 MHARSEFSH 5,000 5,000 0
OJIXM & 2=ZH| 22 5,000,0008 * 14! 5,000
A2 =AY 18,341 17,997 344
101 Q1244 12,341 11,997 344
04 JIZH22REES 12,341 11,997 344
ozelel 12,341
oll2z 43,0002 * 1" » 230 9,890
oXxsHE 43,0002 * 19 » 46 1,978
o IRt G 43,0002 * 19 » 11 473
201 LEr2HH| 6,000 6,000 0
02 222ZH| 6,000 6,000 0
Os32=2 ¥ HA 5,000
oMIIQ2,H2Hl £ 5,000,000 * 14l 5,000
OANEZHISXH(EE32E)
1,000,000 * 14 1,000
H2HSESH 2HAH 5,580 14,500 A8,920
202 OdH] 3,780 2,500 1,280
01 2o 3,780 2,500 1,280
OHsds g3 756,000 * 5% 3,780
203 YR =Z&H| 1,800 2,000 A 200
03 ABM=XARFZH| 1,800 2,000 A 200
OHASX HR=X 1,800,000 * 1Al 1,800
H2HSSH ARSI gRFA 125,000 0 125,000
201 LEt2HH| 125,000 0 125,000
01 AFRZt2lH] 125,000 0 125,000
oA 22l 125,000
oAEs A ARX A
115,000,000 * 1Al 115,000
o0 SSHEA AR (SHAIZR)
10,000,000 14l 10,000
20112210 MAI=LI TIHAAHOIE MdLAHUE = 350,000 0 350,000
gl
[= 250,000
Al 100,000
307 QIzto|A 350,000 0 350,000
< 250,000
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A 2AFEI=ERXN= A HESELAEDL
d: HEE
@42 dEHsEssd (9 E2
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.”I:I}\l,o-l A= Oﬂ/\}OH In_-lln“j_“:_ H|j§3k
= - iy o L) ° - = e e =5 O:H{ﬂ,% Lsa
Al 100,000
04 CIZFHALE X 350,000 0 350,000
O&=AE ALK 350,000,000& * 14 350,000
= 250,000
Al 100,000
MEHSES 937,110 1,071,267 A 134,157
| 157,018
& 2,400
Al 777,692
MEH =S XA 105,074 124,059 A 18,985
301 LetEA3 86,714 99,059 A12,345
12 J|EtE &= 86,714 99,059 A12,345
OMEM=3l el 72,591
SARIE 48,591,000& * 1 48,591
oREX 24,000,000& * 19 24,000
OE === 9,630
ox0AZE 101,450,000& * 4.5% 4,566
cHAAEE = 101,450,000& * 2.24% 2,273
clEEER 101,450,000& * 1.75% 1,776
oMTHEAZ 101,450,000& * 1% 1,015
O)SESESE== 4,493,000& = 14! 4,493
307 gI2told 18,360 0 18,360
02 QI2ZtABAE X 18,360 0 18,360
OMEI=s RS 450,000 * 12& 5,400
OMEM=s NEeX2RsY
12,960,000& * 14 12,960
SLHAMEN FH ALK 2 324,200 379,400 A55,200
307 gI2tol™ 324,200 379,400 A55,200
04 CIZFHAE X 324,200 379,400 255,200
OSLHe MEHSHAXIA 324,200
o Ni232] 2ol &S HEILIACHS
10,000,000& * 14 10,000
o H108 EIIIFSEIUE
15,000,000 * 14 15,000
oHM73 ZEHHEIEHECIH S
16,200,000& * 14l 16,200
ocHMIARAEEAZSHUS
150,000,000 * 14 150,000
oMozl Hade3cteial
30,000,000 * 14 30,000
oHM11s FEHICHE AU
3,000,000& * 14 3,000
o H193] SoIMEH S
40,000,000 * 14 40,000
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0z N>
J2

22N FB . O(E) - NBEAY - B e Hlm= 2
o HI4038 E=W4HLIAS
30,000,000& * 14 30,000
o H183 LAAESIEIIHOESUS
14,000, 000& 4l 14,000
oAESTAHHAMATSH ALK
16,000,000& Al 16,000
S XA CHE] K| & 22,800 23,500 AT00
gIztold 22,800 23,500 AT700
QIRFHAIE X 22,800 23,500 AT00
O&EXN A X & 22,800
o N142 Hi2CH=l 1,500,000& * 14 1,500
o182 ME M=M= 800,000& * 14 800
o M128 =703 2,000,000& * 14 2,000
o HM123 E=RUE 1,200,000 * 14 1,200
o M123] HHECQIES 1,000,000 * 14| 1,000
o N128] IHHZ2ct0IZ 3
1,000,000 * 14 1,000
o HM223] HOIESUE 2,400,000 = 14 2,400
o N23g] MEaZUz=l 800,000& * 14 800
o M102 &3l 1,500,000& * 14 1,500
o M113 HUACS 1,500,000& * 14 1,500
o Xi3al OF0Hal 1,000,000& * 14 1,000
o HMI33l HtCt==Z 3l 800,000& * 14 800
S IIEFS XA CHE] 7,300,000& * 14 7,300
AMZIIHE X 50,000 48,000 2,000
gIZtol ™ 50,000 48,000 2,000
QIZFHAIE X 50,000 48,000 2,000
OAZEII2 K& 50,000
o M23| ZE A MEH SIS
50,000,000& A 50,000
ZOHQI MEH S HALK A 50,000 50,000 0
307 QI2tol™ 50,000 50,000 0
QIFHAIE X 50,000 50,000 0
OF QI A& X = ALK 50,000
o M4z LI HMHSFUH2
20,000,000& A 20,000
o N108 LEHMUINMILLEE U2
10,000, 000& Al 10,000
SJIEIE QL MEH S E
20,000, 000& 4l 20,000
JIEtME T S ALK 81,000 126,500 A 45,500
QI2t01 A 81,000 122,000 241,000




AT EB2EH2=XZ SN HEHAAD
o HMSHS
ool MEUSSA (25 &2
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
04 DIZFSAIE 81,000 122,000 A41,000
OJIEHE HI S ALK 81,000
S20NMYATI2 A METISHS
10,000,009 * 14} 0,000
o M9zl ZEHITIDIIEH 3]
40,000,0002! * 14! 40,000
CHBAMARFNCE  16,000,0008 * 14 16,000
CESURSLYHAMNE &I
5,000,000% * 14! 5,000
SPIEREENE 10,000,008 * 14} 0,000
MBS X S XU X 167,424 0 167,424
| 83,712
Al 83,712
307 eI2H0IE 167,424 0 167,424
| 83,712
Al 83,712
02 pIABNBE 167,424 0 167,424
OMEHMSXEK KX 167,424,002 * 1A 167,424
| 83,712
Al 83,712
HEANSESK 83,712 0 83,712
| 41,856
Al 41,856
307 eI2H0IE 83,712 0 83,712
| 41,856
Al 41,856
VRN EES 83,712 0 83,712
0024 MSES X 83,712,008 « 1A 83,712
| 41,856
Al 41,856
ATEHSH AlEAL 40,000 0 40,000
| 28,000
= 2,400
Al 9,600
307 2I2H0IH 40,000 0 40,000
| 28,000
= 2,400
Al 9,600
02 PIHBAEE 40,000 0 40,000
OAZZUIRHAIBAR 40,000,002 * 1A 40,000
| 28,000
= 2,400
Al 9,600
MEHSS 2N 6,900 0 6,900
| 3,450
Al 3,450
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A2 BE2s=X2 SN HMREAED
Ha: HSTE
el MEHSSA (Bl @)
- _ _ Muo
A= 2N -SA(SH) - NRAY - BE=Z O AF K 'oﬂ/'\_FOH Hlws2
307 2120/ H 6,900 0 6,900
| 3,450
Al 3,450
02 QIAMBE 6,900 0 6,900
OMEHS 2N 6,900,0002 * 14! 6,900
| 3,450
Al 3,450
MEHSSY 223 6,000 0 6,000
202 01| 6,000 0 6,000
01 =Uj0FHl 6,000 0 6,000
OAZX0PEY HRFF 2,000,002 * 3% 6,000
ESIEINEEES 2,371,450 6,507,968 ~4,136,518
za2Sy F 50,000 191,000 A 141,000
401 AEHIYLS 0 50,000 161,000 A111,000
01 Al&H| 50,000 160,000 110,000
OAl&H] 50,000
C2SX A2 MY 25,000,008 * 2IHA 50,000
MEHSHE A 1,100,000 2,000,000 900,000
401 AEHIL 20 1,100,000 2,000,000 900,000
01 Al 1,100,000 1,950,000 850,000
OAl &l {,100,000,0008 * 1Al 1,100,000
L= 2Y 29 333,282 485,878 A 152,596
101 Q124H| 57,102 52,698 4,404
04 JIARZRASES 57,102 52,698 4,404
ozzlel 57,102
Sl 43,0002 * 488 * 230 39,560
oxgay 43,0002 * 498 * 462 7,912
Qx> g 43,0002 * 498 %11 1,892
oAZelag
8,06020 * 28§  40AI2} 122 7,738
201 Y2 y| 61,180 149,680 88,500
01 AFR22lH] 25,580 44,680 219,100
OAtR 22l 9,380
cBESHA 5002 * 6,00004 3,000
CHEAPEE 50,0008 * 128 600
o 8 2 ORI & 100,000 * 3074 3,000
cl2nsER 15,0002 * 3% * 122 540
S22 DA 7,0008 * 42 * 80 2,240
OYRE U AZE7Y 16,200
oRCOITH ZHIYX 300,0008 * 83l 2,400
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A 2AFEI=ERXN= A HESELAEDL
EEETETE
S HSIIEAILES (9 E2
2. 2N HY O (BH) - MBAY - BAS 0f b S H RS2
0f & o8
o&MIFE SHAX 300,000& * 43| 1,200
osl&A BE 300,000& * 12& 3,600
SRSkl ESES K= 4,000,000& = 13| 4,000
SYNF=FSalE=PN L] 5,000,000& * 14 5,000
02 23234l 35,600 105,000 69,400
0233 35,600
oAMNEEZ 2,000,000& = 13 2,000
ocXMIIR3 1,300,000& = 12& 15,600
oAMTIT=TAIER 400,000& * 12& 4,800
oIt 450,000& * 12& 5,400
CAZNEZ(RUEAS) 250,000& * 128 3,000
CcRF|IAY(W=IIS) 400,000& * 12& 4,800
206 =Yl 15,000 15,000 0
01 M=Hl 15,000 15,000 0
O&Cl &2l Mzl 15,000
oczs%Y 5,000,000& * 14 5,000
oHIAIE R 500,000& * 103 5,000
oHlgxg 500,000 * 43| 2,000
oBAE EXC 30,000& * 60K 1,800
oBAlZg &OM 240,000& * 5L 1,200
401 AIEHIZ 2O 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OIs= 200,000,000& = 14 200,000
SHEEX MSAE2Y 65,000 65,000 0
201 B2 Y| 35,000 35,000 0
01 AbR2t2lH| 35,000 35,000 0
O] 35,000
SHSANLEEERXNANES(S6EX)
30,000,000& * 14 30,000
CUSEHNOESHARERY
500,000& * 102 5,000
401 AIEHIZ 20 30,000 30,000 0
01 Al&HI 30,000 30,000 0
OAl &l 30,000
CEXHEANERN RS (5H2)
30,000,000& * 1A 30,000
SOHENSAIL 23 ¥ 24 820,000 390,090 429,910
401 AIEHIZ 2O 820,000 370,000 450,000
01 Al&HI 820,000 370,000 450,000
OAl &l 820,000
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43 pEes=x3 SN ASHAED
mu: sus
ISIIEAIE &t 5 (ctel: &
S BB SR (B) - MM - HE S 0l &b S D=2
iy o L) T Nrs oS = a&r = 04| AFOH USa
cWlsZAT AXZTCIWAH
80,000,000& * 14 80,000
oFFZAHLIAZE AXLCILEX
300,000,000& * 14 300,000
oZHAHOIESE XA LX
6,000,000& * 200H A 120,000
osUHMSEAE &4 200,000,000& = 1A 200,000
ocsUMSANE FANE=
100,000,000& = 14! 100,000
cZSUSHOEERES
20,000,000& * 14 20,000
HM=JIBAIE& S 233 3,168 3,500 A 332
202 O4H| 2,268 2,500 A232
01 =Wl 2,268 2,500 A232
OX=sAE 2= 756,000& * 3H 2,268
203 AR F&H| 900 1,000 A 100
03 AMEFIHRFAY| 900 1,000 A100
OMSIIEtAIZg e s HFF& 900,000 * 14 900
25 2 4 898,717 946,961 A48,244
Il 189,942
= 23,700
Al 685,075
2EFH 898,717 946,961 A48,244
| 189,942
& 23,700
Al 685,075
ol Az 31,310 35,150 A 3,840
201 LBt 3| 2,810 2,650 160
01 AtS 22l 2,810 2,650 160
OArS 22/l 960
ocHAUSEZEUS 80,000& * 12& 960
O=&l 1,500
ocHAERMNY A=A
1,000,000& * 14 1,000
cEESHME 500,000& * 13 500
Oogx= 350
cHAUSAHSARA EXNLXZ=
350,000& * 14 350
307 QI2t0IA 28,500 30,000 21,500
02 2ItBAE X 28,500 30,000 A 1,500
OXNgEAE dgAE X&
28,500,000 14 28,500
A2EEH XA 43,300 46,500 A3,200

_52_




A= 2FES=EXZ A HESELAEDL
MM HAW 25 U |4
CEHAESA (eel e
SR BB OS(5) - NRAY - BAS 0l & e Hlm= 2
307 212t01& 43,300 46,500 A 3,200
03 AtalEMEZEZ 43,300 46,500 23,200
OFAEHMXA 43,300,000 = 14 43,300
oz 23 254,180 215,588 38,592
101 1 H| 70,828 57,188 13,640
04 JI2tHIZ2E2NHEE* 70,828 57,188 13,640
O2YEX 22,595
SPIR=t= 36,5002 * 2% = 230 16,790
oFsd 36,500 = 2 * 46 3,358
ocHXteY 36,5003 * 29 » 11 803
o A2t 6,850 * 20Al2F = 123 1,644
(OF=ESPNE=VN; 1,560,000& = 2% » 12& 37,440
(ORF=EeI 10,793
=Jl&=z 43,0003 » 1H * 200 8,600
oFsd 43,0003 + 19 * 40 1,720
oA+ 43,0003 * 18 » 11 473
201 LBt 3| 163,052 113,200 49,852
01 AFR 22| 26,296 24,160 2,136
Oger=ZH| 17,740
cSARESTY 100,000& = 123 1,200
ostEA=EFTY 250,000& * 12& 3,000
SMNRIDAZEFY(EH, E8)
200,000& * 12& 2,400
CIBELSHE(HASHAN)
2,000,000& * 13| 2,000
oFiH ZZ )M EHZHE
600,000& * 53| 3,000
cHITHIL2H (REHS)
100,000 * 63 600
= J|Et=&H| 3,000,000& » 14 3,000
o2 BHEs/wRY 2,000,000& * 13| 2,000
SH2RA=ER 15,000& * 38 * 12& 540
o2d+¢ 4,200
ocFHAERARAS =Y 70,0003 * 15H * 43| 4,200
Oz gl 1,120
o S20AlH| 7,0008 * 2% » 80 1,120
oLtz 3,236
o2&, 3HlYdXz 1,000,000& = 23| 2,000
odI|YXE 51,500& * 2CH = 123 1,236
02 23234l 46,756 41,040 5,716
SEEEEER Y 35,700
ocdIIZ2 2,000,000& » 123 24,000

_53_




oF)

%)
oF
o
o
)
4
R0
o
=
3
"
)
o
i ok
w9 %
w0 or
0 M T
0 <4 <

) R0 RO
& oF

< RO O0J

o o | o o o | ©
o o | O o o | O
> © = < 0| ®
A0 g 17 © 3|
Ko < al«
E
-
o o | o o o | o
o [N N o o | O
S N (N S S|
* oo © ® |3
H3r
<
RIS
o O O O o O O O O O O O © © O O O o o o o o O O O Ol o |l O O o o 9 ol oo O O
o O v W O O O ¥ O © O O wuU 1u O O O O o o O o O O O Ol O |l O O O O O Ol OO O O
NS WA I RN®D®AS S NS S 95 S ©§ 38 3839839 |IQJ|®H0S ©d S S|NnHin DD
3
<
=3
W o o e o o o o o o ~ oo W 1 T S B T T I B0 oW o aj
oY - - - - - A © NN g5 - - T 2 - - - N -
J:AIO* x X X ****** *x 4*** m* ***** *** x x
T AT oF T ATl of ar * & 5 AT T A s
2l 22 8T apgpew E _Taol @ BEE gl 2T w &0 z
. o o O O o O O O O O o H & o S IQO o O O O O o O O — o
S S 2 2 =9 9 29 388 8 S S 2 8 <2 s S 33 8=< S S 3 N S
ol - o o o o o 9o - - - o S o - o S - o o o - o o o - o
- 1< o 0N W o O O O O O o - O O O o O o O O O O o O O o (@)
< le = mo - EgQ @ 3T ° 2SS S8 S S 2g8g¢9 S © 2 x ©
= wm o ol — ) =]
. H @& &~ w_m od 30 R _ﬂnw
~ o 8 ol g O M =) EUR 0 g 0 D ok~
= o R 0 o T R 5 ~ w5 g NS a0
A L S R N ) N A v K Ok o w2 ] oo 5
= o< mE =< ®o<A D OO0k < << AT B m & & RO 5 ur
ok 1= m®mo R’k KA R < M M A 30 48 Mo w m o =< < K 5l ur ® oD
ol @ & R’ <+ ® DR OF M = R Ik O DU W oW o 30 e T Bl R’
- kP wma W™ 3 E R D 3 T A< KA TAM DT A H WWWw|{M|H D WK K 0 -< S| o~
& ol w w04 ~ RS H RS T 0K A BN D OB ANXBEE OHHIdS| 0D AR W 0T ur | o oK K
Zo |20 - oF <4 R R oW Ok AR M WK< RR OB RO TR R WM RS R N ok 2 =
. o o 0 0 0 0 00 0 0380 <0000 <M OO0 0 000 0 O|B|Z® 0 0 0 @ R Il RO
= O O w0 O ol &0 O ~ O Rlr O
b_l ™D - | © [aN} w0 |
(@) o | — — o | O
. @ <
rr
il

_54_



0z N>
J2

0x
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M- B3 S2(3H) - HRAY - eSS

22
J2

SAT Y 3,000
OEN7Y 3,000
oG A7 10,0008 * 1002 1,000
oS8 YANEPY 1,000,008 * 28l 2,000
HAES50T 29 152,863
101 Q1248 42,049
04 JAM2RIISES 42,049
o2y 14,759
oJl23 43,0008 * 1% + 230 9,890
S 43,0008 * 1% + 462 1,978
o Xfag 43,0008 * 18 * 112 473
SIS
8,060 * 12§  25AI12F * 122 2,418
o2gex 12,531
Sl 36,5002 * 198 * 2302 8,395
oFgay 36,5008 * 12 * 462 1,679
PN 36,5002 * 1% * 112 402
SA2tel 4 6,85021 * 25AI12t 122 2,085
OA0lE 14,759
Sl 43,0008 * 1% * 230 9,890
oFgaY 43,0008 * 1% * 462 1,978
SoixiAg 43,0008 19 * 11 473
SA2tel 4 8,0602 * 25AI12t 122 2,418
A2 Y| 74,214
NESEITE 17,924
O Ys+gY| 14,500
oNREETY 150,0002 * 122 1,800
osFASETY 250,0008 * 122 3,000
S ARIINARERY 50,0002 * 122 1,800
o F R Y| 22| 1,000,008 * 14! 1,000
cMeI=2 15,0008 * 3% + 128 540
oI Er= 8| 1,360,008 * 14! 1,360
oJl2 222 M 1,000,008 * 28l 2,000
cHAW T2 292 HA
1,000,008 * 33l 3,000
oyxz 2,864
o2E IHIYXE 1,000,008 * 28l 2,000
oHAIIYRE 24,0002 * 304 * 128 864
o3| 560
c=amAl| 7,002 * 80 560
ZB23Y| 23,290
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R RN EY - BR(SN) - NEAY - BaS 0f & o e HImE 2
O 3322 % HA 18,090
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oAMIIT=EAIER 100,000& * 12& 1,200
oxdEAld HiAXHY EE=
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oA gotME 3| 50,000& * 13| 50
ocMIItNEAHZ 1,500,000& * 13 1,500
oM BEYS 100,000& * 23] 200
o RoZHIAIAE g 170,000& * 123 2,040
ocHAUEAALES Otdl 100,000& = 13l 100
O A& &EHIS XY 5,200
odute )| 2R XYl 100,000& * 12& 1,200
o AYANLEE+=SF XY 500,000& * 23| 1,000
o J|EtA 2 4&H| 3,000,000& * 14 3,000
03 A2 I 33,000 22,000 11,000
O #Ar2ZH| 33,000
S¥ kel A S N = 1,250,000 * 24t= 30,000
ocd@AESOEI2Z 3,000,000& * 13 3,000
401 AIEHIZ 20 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OAl &l 30,000
oFHAIZIZ2EEH 30,000,000& » 14 30,000
405 XHAHE S 6,600 0 6,600
01 AHALEESHSHI 3,600 0 3,600
OXtL = EFH SHI 3,600
ocLESZAFHFY 2,000,000& =1CH 2,000
oYlZzME 1,000,000& = 1CH 1,000
oDVDEH 0l 7 300,000& *2CH 600
02 =Ml 3,000 0 3,000
OEM-Y 3,000
o A7 10,000& * 100& 1,000
o3Iz 2,000,000& * 14 2,000
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| 53,750
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Al 44,250
307 QI2t0l& 107,500 0 107,500
| 53,750
& 9,500
Al 44,250
02 GI2tAAEX 107,500 0 107,500
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AT BB2EH2=XZ SN HSEAED
M HAH 25 U 84
=PSEEWE (25l &2
_ _ _ N E
=24 -3 -H2A(SH) - NRAY - BEZ Off &F K oﬁ&iﬁ Hws2
= 9,000
Al 14,000
02 PIANBAEE 23,000 0 23,000
OHIZASD 2YXY  23,000,0002 * 14 23,000
= 9,000
Al 14,000
HAGSUN T2 29 60,264 0 60,264
| 30, 132
Al 30, 132
307 QI2H0|H 60,264 0 60,264
| 30, 132
Al 30, 132
02 BINBAEE 60,264 0 60,264
OBAW SUX Z2Iy 2% X
60,264,000 * 14! 60,264
o] 30, 132
Al 30, 132
DTHAUSHALTR20Y 29 8,360 0 8,360
| 4,180
Al 4,180
201 Yer2 ) 8,360 0 8,360
| 4,180
Al 4,180
03 A2 | 8,360 0 8,360
OZZHAW +AIL T2 29
8,360,000% * 14! 8,360
| 4,180
Al 4,180
NAHLE BOFIRE 2 3,000 0 3,000
| 1,500
Al 1,500
201 LByl 3,000 0 3,000
| 1,500
Al 1,500
03 A2 | 3,000 0 3,000
ONYFLE HOIRS 2
3,000,0008 * 14! 3,000
| 1,500
Al 1,500
HAEXS AL HH 38, 160 0 38, 160
| 9,080
Al 19,080
101 o124l 38, 160 0 38, 160
| 19,080
Al 19,080
04 JIZH2ZSES 38, 160 0 38, 160
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l:!/H X XH [:|-O| }\.”I:l |.O-I A= X'—-IE‘—":— JF
T o T e = o/ 0:”/&_% o
(OF=ENSPNEIN; 38,160,000 * 14 38,160
Il 19,080
Al 19,080
L2ESEAE 2IRAK3 XA 4,000 0 4,000
| 2,000
Al 2,000
201 LBt 3| 4,000 0 4,000
| 2,000
Al 2,000
03 A2 HI 4,000 0 4,000
O&AadE 299 2 4,000,000 * 14l 4,000
Il 2,000
Al 2,000
FAEsYd 234 3,780 0 3,780
202 O4Hl 3,780 0 3,780
01 =WHOYI 3,780 0 3,780
O&AE H2F 756,000& * 5% 3,780
HHSAAY(MIBLED 27,100 27,100 0
Jl23l 27,100 27,100 0
Jl2Z | 27,100 27,100 0
201 LBt A 16,500 16,500 0
01 AtE222|H] 16,500 16,500 0
Ogt=ZH| 11,250
cHINRES Y 150,000& = 123 1,800
=J|Et==&H| 4,050,000& = 14l 4,050
SARIDNAES Y 3,500,000& » 14 3,500
HER=Z 15,0008 * 48 = 123 720
cENMFY(EXNE) 180,000 * 14 180
oI HHI el (ZAELHIIS)
1,000,000& * 14 1,000
o=l 5,250
cJIZ2H RS A
7,000& » 159 * 50 5,250
202 O4Hl 7,600 7,600 0
01 =Wl 7,600 7,600 0
OJl2gf=d0tl 7,600,000& * 14 7,600
203 HRF&HI 3,000 3,000 0
04 BASIHREFE 3,000 3,000 0
ORNMBIYERF 250,000& = 12& 3,000
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AR AZ2I=XD SN NEHFD
HH: QNZA NESH P
P UHEUSAE Zdst (98
- - = ME
22N FHH O () - NRAY - BES ol Ol AF o8 HluS=
S 16,618,728 15,756,340 862,388
= 100,000
= 325,000
Al 16,193,728
4ESe WsSEE 25 16,130,570 15,507,100 623,470
= 100,000
< 325,000
Al 15,705,570
H=nsAg gdst 16,130,570 15,507,100 623,470
= 100,000
S 325,000
Al 15,705,570
MEENSIURIIEES 13,000,000 12,000,000 1,000,000
307 2120l & 13,000,000 12,000,000 1,000,000
09 2+EAELS 13,000,000 12,000,000 1,000,000
OMEEXNSIHHA EHAlLSE)RNEEXZ X
& 13,000,000,000& = 14| 13,000,000
AMUHA 2SAE HEXRA 1,476,000 1,460,000 16,000
< 265,000
Al 1,211,000
307 2120l & 1,476,000 1,460,000 16,000
= 265,000
Al 1,211,000
09 2+HAHAELS 1,476,000 1,460,000 16,000
OAILIE A Hi= HEXI2(2A)
1,400,000,000& * 14! 1,400,000
= 250,000
Al 1,150,000
O%Il-d 28 caARA(2H)
76,000,000& = 14 76,000
= 15,000
Al 61,000
ARSI EAY 2 4,500 5,000 A500
307 2120l & 4,500 5,000 A 500
03 At2IEHMEXES 4,500 5,000 A 500
OAtzlEH™ K& 4,500,000& * 14 4,500
WSItE AIEX& 1,241,600 1,551,600 A310,000
202 Oddl 1,600 1,600 0
01 =LHOYI 1,600 1,600 0
OUSIHEFAG R Kbl
100,000& * 2& = 8& 1,600
307 QI12t0ld 1,240,000 1,550,000 A310,000
09 2=HAHEXS 1,240,000 1,550,000 A 310,000
Ounsstegol 1,240,000,000& * 14 1,240,000
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A3 BPRI=NZ SN DEHFDY
HE: 0IEN NEBT 7S
ol HEREAY B (el &2
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
HAHATZ AT 300,000 0 300,000
2 100,000
= 60,000
Al 140,000
307 BI2HOI 300,000 0 300,000
2 100,000
= 60,000
Al 140,000
09 S4AHBE2 300,000 0 300,000
OMAHAC TR 150,000,008 * 2CH 300,000
2 100,000
= 60,000
Al 140,000
MRss WEIHC UK X 15,470 0 15,470
307 BI2HOI 15,470 0 15,470
09 S+AHBE2 15,470 0 15,470
OF=58 DEINC DU (ZSUBA)
15,470,0002 * 14} 15,470
DEWYST 93,000 90,500 2,500
201 L2y 2,500 0 2,500
01 Attt 2,500 0 2,500
ONEUHALET ABr4 S|
2,500,000 * 14! 2,500
202 04t 10,500 10,500 0
01 2Uioibl 10,500 10,500 0
ONELREZ 01Ul 150,002 * 7% * 108l 10,500
402 DIZHRIROIH 80,000 80,000 0
01 QIAR=EE 80,000 80,000 0
ONSHAHDY SLIILX K&
80,000,0002 * 14} 80,000
HHSYFH(LSHI D) 13,680 16,240 A2,560
[T 13,680 16,240 A2,560
o=l 13,680 16,240 A2,560
201 Lpr2 | 6,200 8,700 A2,500
01 Attt 6,200 8,700 A2,500
ogsr+gH| 6,200
CHHARSBY| 200,0002 * 122 2,400
AR ARETY 250,000 * 122 3,000
oJIEt+8H| 800,008 * 14 800
202 01t 2,800 2,800 0
01 2Uioib| 2,800 2,800 0
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A2 BPRII=NZ SN RERFD
U wmSARH(REUED)
|=3tl (9 &e
224 ZH . S(E) - HRAY - BES 01 &t o8 e HlRE2
OJl=2gs =&l 2,800,000& * 14 2,800
203 HRF&Hl 4,680 4,740 A60
04 FN2ILRFAHI 4,680 4,740 260
ORANBEYRFH 390,000& = 122 4,680
Es(usSgd) 474,478 233,000 241,478
LHEHHXI = 474,478 233,000 241,478
HEHHKIE 474,478 233,000 241,478
701 JIEtRI A &= 474,478 233,000 241,478
01 JIEtSIHEES 474,478 233,000 241,478
O ANHEAN 5= 4,744,780,000& * 10% 474,478

_62_




e EWE SM  HesET A
M AEHN =4
el USTQR EE - 84 (el:@g
MR- FH-E(BN) - R - BaS 01 &t o8 Bl HlRE2
0 & 24
SRR EIEAFAC 3,824,834 3,661,101 163,733
= 1,000,000
&2 28,918
= 300,000
Al 2,495,916
ZEHLH =4 2,005,734 2,094,201 A\ 88,467
= 28,918
Al 1,976,816
HELN BEE - E4 1,610,758 1,690,706 AT79,948
= 28,918
Al 1,581,840
LECH ALK 1,133,758 1,467,106 A 333,348
&2 28,918
Al 1,104,840
201 et 335,758 359, 106 A 23,348
= 28,918
Al 306,840
01 AtS 22l 26,040 31,900 A5,860
Oget=gH| 26,040
SUAFIN BB AL L2
4,000,000& * 13l 4,000
CUSTQHHAl BEE H40 HE
100,000& = 105 1,000
octR22X ZXHE 8,000& = 25004 2,000
CHRHMAT TRX SAlY|
7,000 * 82 * 241 x 1709H 19,040
02 23234l 3,800 8,800 25,000
O=32Z2LHA 3,800
o& - ot AEE 800,000& * 14 800
ocHRE BH+HE 200,000 * 55 * 23l 2,000
oHQANAEE MIIRS 1,000,000& *» 14 1,000
03 A2 HI 305,918 318,406 A 12,488
o= & 20,000,000& * 14 20,000
OHE S8, 2%, 20 gx
80,000,000& * 14 80,000
OHE % HIEAIE 20X 40,000,000& * 14 40,000
Ol0lsst&Ea dxt 500,000& = 8= » 8¢ 32,000
Otz -&H& &89 20,000,0008 « 14 20,000
OHQE PTALE HHEY
20,000,000& * 14 20,000
OSAME Ol Xt 3,000,000& * 14l 3,000
OzHoliH Xt 600,000& * 5= 3,000
OS2I X, HI&, #dl &t 5,000,000& = 14 5,000
Oeters Xt 4,000,000& = 14l 4,000
OLeD=2=01 & Xt 20,000,000& * 14 20,000
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A= A== fA  HESIEIZTAIFAC
Mo ASCQH 84
o9: YSLQH 2E - 84 (9 &
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I |,o-| A= 04|/\}0H In_-lln“j_“:_ H|j§3k
= (=) iy o L) T NS oS =5 &= 04| AFOH U=sa
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